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1) TRADE THEORY

Question No. 1/ Question ID 288 Marks: 2.00

What chart shows a graphical representation of the activities performed during manufacturing?
B A1 A A % SR fefed nfafafiat o1 mieea faffta fozarar 82
(A) O Process chart (Correct Alternative)
(Correct Alternative)
(B) O Bar chart (Chosen Option)
IR d1e (Chosen Option)
(C) O Control chart

(D) © Man-machine chart

A-H =1

Question No. 2 / Question ID 126 Marks: 2.00
Which bearing material is used for connecting rods and electrical motors?
BT gy 3R Fafaewmd Hiesl & foe for foafer it &1 Suant foan sirar g2
(A) O Cgpper lead alloy (Correct Alternative) (Chosen Option)

HIUR s fiY UTg (Correct Alternative) (Chosen Option) Glnhal iTi
(B) O White metal

grsc Hed
(C) O Sintered alloy
Rex iy arg

(D) O Aluminium alloy

TgAgH Ay g

Question No. 3 / Question ID 169 Marks: 2.00
Why tenons are provided at the bottom of base plate of milling fixture?
fAfeRT PR & 99 Wie & Fad YRT 8 S0 &1 U™ fohd SiTd g7
(A) O For guiding the tool
T P TZS A o fag
(B) O For balancing the workpiece
HRIaE] ! Tford HRA o forg
(C) O For clamping purpose

(D) O For proper location of fixture (Correct Alternative) (Chosen Option)

R &1 ﬂ—epf are AP I F fﬁT{ (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 46 Marks: 2.00
Which grade slip gauge is used for precision tool room applications?
R ¢a 1 sy & o fy I & Ry 1S &1 Iy fean Sirar g2
(A) O Grade 00
Grade 00




(B) O Grade I (Correct Alternative) (Chosen Option)
Grade | (Correct Alternative) (Chosen Option)
(C) O Grade 0
Grade 0

(D) O Grade ll
Grade |l

Question No. 5/ Question ID 298 Marks: 2.00
Which documents are used for examining the process to identify areas of improvement?

JYR & & BT UG B 3 UlhdT B Sffd 8 DI I SXITdST T SUANT fawat STt 82
(A) O Job card

(B) O Productivity report
JdgHd R
(C) O Process chart (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(D) O Stage inspection report
fteror feard

Question No. 6 / Question ID 113 Marks: 2.00
What is the name of the bearing shown in the figure?

o & e e foafie &1 9 o 82

Global iTi

(A) O Single row ball bearing
Tohd UfeRT sl ST

(B) O Self aligning ball bearing (Correct Alternative)
-G 97t SGfT (Correct Alternative)




(C) O Solid bearing
Hrfers fagia

(D) O Double row ball bearing (Chosen Option)
S9d X d1d fafT (Chosen Option)

Question No. 7 / Question ID 139
How pipes are classified?

UISU} &1 iffep=ur B b Sirar 872
(A) O Uses

B) O Shapesw

(C) O Material (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Colour
T

Marks: 2.00

Question No. 8 / Question ID 265
What is the name of the part marked as 'x' shown in the figure?

fomr & feRame 7w x' § fafgd W1 &7 918 @ g2

(A) O Return spring
fee &

(B) O Coil core
$Sd HR
(C) O Armature (Correct Alternative)
(Correct Alternative)

(D) O Contact terminal (Chosen Option)
¥ TUdh HX (Chosen Option)

Marks: 2.00

Global iTi




Question No. 9 / Question ID 11 Marks: 2.00
What is the name of the file shown in the figure?
U HIRA BT ATH FT1 52

Global iTi

(A) O Tinker’s file (Correct Alternative)
WIgd (Correct Alternative)
(B) ©O Swiss pattern file (Chosen Option)
HIgd (Chosen Option)
(C) O Crossing file
i E
(D) O Dreag naught file
S Hlc Hhred

Question No. 10 / Question ID 39 Marks: 2.00
Which type of abrasive is used in honing cast iron and non-ferrous materials?
Ha] gl 3R 3feiie U DI THGH T 6 UHR & TN HI SUANT T STl 872
(A) O Aluminium O)Qde
SICNIES]
(B) O Boron carbide (Chosen Option)
(Chosen Option)




(C) © Diamond

(D) O Silicon carbide (Correct Alternative)
IGIGEDE] Wﬁ@' (Correct Alternative)

Question No. 11 / Question ID 87
What is the cooling rate of carbon steel during the annealing?

TR & SRM BIa- Wid & Mda e 1 g2

(A) O 80°C to 100°C / hr
80°C to 100°C / hr

(B) O 75°C to 100°C / hr
75°C to 100°C / hr

(C) O 100°C to 150°C / hr (Correct Alternative) (Chosen Option)
100°C to 150°C / hr (Correct Alternative) (Chosen Option)

(D) O 125°C to 150°C / hr
125°C to 150°C / hr

Marks: 2.00

Question No. 12 / Question ID 111
What is the name of the bearing shown in the figure?

fort & feame 7w fyafee o1 9w T 82

(A) O Special thrust bearing (Correct Alternative)
=iy yve aafv (Correct Alternative)

(B) O Thrust bearing
U

(C) O Double roller bearing (Chosen Option)
S9d TR FTRAT (Chosen Option)

(D) O Roller bearing
AR SR

Marks: 2.00

Global iTi




Question No. 13 / Question ID 102 Marks: 2.00
Which type of bearing is used for taking high axial thrust load?
I &g e YR A & e forg TR & SaiaT &1 SuanT fasar S g2
(A) O Tapered roller bearing (Correct Alternative)
S AR ST (Correct Alternative)
(B) ©O Angular contact ball bearing
IR Hlede ard
(C) O Self align roller bearing (Chosen Option)
Aeh AT IR SR (Chosen Option)

(D) O Roller bearing
RIeR ST

Question No. 14 / Question ID 176 Marks: 2.00
What is the name of the part marked as ‘x’ shown in the figure?

o # fezame 7w % @ fRIfgd HmT 1 W 82

Global iTi

(A) O Driven pulley

(B) O Step pulley
XY

(C) O Driver pulley
gTEaR gl
(D) O Jockey pulley (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 62 Marks: 2.00




Which term refers to the operation of joining the slip gauges together for building up sizes?

DI T Xeg; BRI & o8 &Y Tl B! T T1Y Sig & GaTd B e fid Bl g2

(A) O Lapping (Chosen Option)
1T (Chosen Option)
(B) O Honing

(C) O Wringing (Correct Alternative)
[T (Correct Alternative)
(D) O Polishing

Question No. 16 / Question ID 210 Marks: 2.00
Why universal uni-joint coupling is only suitable for remote manual operations?
o d gl-Slise HUTHT had RATe HI3d TR & fore g Suged i g7
(A) O Provides a soft start
TP R YB3 YaH IRl §
(B) O Used to reduce the engine vibration (Chosen Option)
§O U &I HH B & foTT IUTNT fHT ST 8 (Chosen Option)
(C) O Used in pairs on cardan shafts
HIe MU R Siig A IUANT fbar oirdr g
(D) © Transmited low power is not smooth (Correct Alternative)
GENEGE RIS qd= T8t % (Correct Alternative)
Question No. 17 / Question ID 4 Marks: 2.00

What is the taper ratio of Gib head key way?

519 38 Pt 9 BT TR 3[UTT 1 1T 52
(A) O 1:19
1:19
(B) O 1:100 (Correct Alternative)
1:100 (Correct Alternative)
(C) O 1:50 (Chosen Option)
1:50 (Chosen Option)
(D) O 1:20
1:20

Global iTi

Question No. 18 / Question ID 218

How hydraulic transmission force is controlled?

BIS g CIfHRM oo & Fafd gl 82

(A) O By fluids (Correct Alternative)

ard W%ﬁ &IRT (Correct Alternative)

(B) O By electric
RERSEWY
(C) O By air (Chosen Option)
gary (Chosen Option)
(D) O By gears
el g

Marks: 2.00

Question No. 19 / Question ID 283

Which cutting fluid is used for threading in general purpose steel?

I T & Tid # 2f$T & fore fovg aa uerdf o1 Suai fabar Sirar 87

Marks: 2.00




(A) O Sulphurized oil (Correct Alternative) (Chosen Option)
b Jod aa (Correct Alternative) (Chosen Option)
(B) O Soluble oil

(C) O Dry
R3Rell
(D) O Kerosene

Question No. 20 / Question ID 193 Marks: 2.00
What is the name of the part marked as ‘x’ shown in the figure?

o # fezame 7w x @ fRfgd HmT 1 W T 82

Global iTi

(A) O Face width (Correct Alternative)
Y Bt iﬁ%‘lﬁ' (Correct Alternative)

(B) O Pitch line (Chosen Option)
EEKIER] (Chosen Option)

(C) ©O Dedendum
ISSEL

(D) ©O Addendum




Question No. 21 / Question ID 205
What is the name of the clutch shown in the figure?

fomr o fRaTQ U oera &1 A1H @1 872

(A) O Single plate clutch
R wie &

(B) O Air clutch (Chosen Option)
QIR d¢id (Chosen Option)

(C) O Cone clutch
DI &I

(D) O Dog clutch (Correct Alternative)
ST &g (Correct Alternative)

Marks: 2.00

Global iTi

Question No. 22 / Question ID 273
What is the name of the lubrication system shown in the figure?

o o gmIfS 7S W YuImelt &1 =1H 1 82

Marks: 2.00




(A) O Manual screw down system
T3 T 813 RieeH

(B) O Wick feed
fae ftbs

(C) O Ring oiling (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Splash system
TR Yot

Global iTi

Question No. 23 / Question ID 242
Which valve controls the direction of the flow of fluid?
DI I dTed 59 & A8 B =M B! deld HRar g2
(A) O Directional control valve (Correct Alternative)
eI =01 a1 (Correct Alternative)
(B) O Flow control valve
Yarg (HI=0l dred
(C) O Pressure control valve
Ga1d =0T dared
(D) © Non-return valve (Chosen Option)
R ot ared (Chosen Option)

Marks: 2.00

Question No. 24 / Question ID 24
What is the use of tab washers?
F GIYR HT IUTNT &7 57
(A) O Locking the nut from the bottom
¥ ¢ B Al BT
(B) O Locking the nut at the center
&% W A Bl Al BT

Marks: 2.00




(C) O Locking the nut at the corner (Correct Alternative)
TR e Bl dlP BT (Correct Alternative)
(D) O Locking the nut from the top (Chosen Option)
S Y 7 Pl dld BT (Chosen Option)

Question No. 25 / Question ID 82 Marks: 2.00
Which process is adapted to add cutting ability and wear resistance on steel?

I IR Ble I AT 3R Ug1 & UfeR1Y &) g & T o= I ufshar 3g=rs St 872
(A) O Nvormalis-ing

(B) O Hardening (Correct Alternative)
[T (Correct Alternative)
(C) O Tempering
ST

(D) O Annealing (Chosen Option)
(Chosen Option)

Question No. 26 / Question ID 173 Marks: 2.00
What is the name of metal alloy of Lead, Tin, Copper and Antimony?

i, e, afar iR T Bt et et UTg &1 am A ]2
(A) O Leaded bronze
NISEEIS!

(B) O Gilding metal

00 g Globalim

(D) O Babbitt metal (Correct Alternative) (Chosen Option)
Aed (Correct Alternative) (Chosen Option)

Question No. 27 / Question ID 318 Marks: 2.00
Which crane is mounted at the base and is supported by the bearing plate at top?
DI I h YR TR T gl 8 SR 2 IR foafr wie g1 gafia gt 82
(A) O Jib crane (Correct Alternative) (Chosen Option)
IGCE 2] (Correct Alternative) (Chosen Option)
(B) O Floor crane

B b

(C) O Derrick crane

(D) O Gantry crane

Question No. 28 / Question ID 54 Marks: 2.00
Which grade of slip gauge is used for inspection?

fAteror & fore forg I & U 191 &1 IuanT fovan A 872

(A) O Grade ‘00’ accuracy
Grade ‘00’ accuracy

(B) O Grade ‘0’ accuracy (Correct Alternative)
Grade ‘0’ accuracy (Correct Alternative)

(C) O Grade Il accuracy
Grade Il accuracy




(D) O Grade | accuracy (Chosen Option)
Grade | accuracy (Chosen Option)

Question No. 29 / Question ID 315 Marks: 2.00
What is the name of the part marked as 'X' shown in the figure?

fomr & feRame 7w X' @ fafga ymT 1 8 o 82

Global iTi

(A) O Intermediate link
Aadl fid

(B) O Master link
AR foih
(C) O Joining link (Correct Alternative)
T8 &1 foid (Correct Alternative)
(D) © Chain (Chosen Option)
EEC| (Chosen Option)

Question No. 30 / Question ID 75 Marks: 2.00
Which metallic coating is done by rolling the layers of metal on to base metal?

DI Tt 41g HIFET o1 Bt TRA! B SATYR T W A BB PI STl g2
(A) O Spraying

B) O Enamglling




(C) O Cladding (Correct Alternative)
5T (Correct Alternative)
(D) O Molten metal bath (Chosen Option)
Ted §1Y (Chosen Option)

Question No. 31 / Question ID 236

Which formula calculates force?

DI T BIHAT I B T Bl 572

(A) O Pressure x Area (Correct Alternative) (Chosen Option)
Pressure x Area (Correct Alternative) (Chosen Option)

(B) O Pressure + Area
Pressure + Area

(C) O Pressure - Area
Pressure - Area

(D) O Pressure = Area
Pressure + Area

Marks: 2.00

Question No. 32 / Question ID 67
Which is called as super finishing process?

ford g R ufshar wet S 82
A) O Tutning

(B) O Honing (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(C) O Milling
forfeiT

D) O Gr[ncjing

Marks: 2.00

Global iTi

Question No. 33 / Question ID 155
What is the name of the pipe fitting symbol shown in the figure?

forr # femame 7w ursy fbfe udie &1 9 R 82

(A) O Plug
W

(B) O Socket (Correct Alternative)
(Correct Alternative)
(C) O Cross (Chosen Option)
P (Chosen Option)

Marks: 2.00




(D) O Elbow

Question No. 34 / Question ID 224

Where are worm and worm gears used?

Y 3R T fIRR &1 IUANT &gl foar STl 87

(A) O Used in automotive dlfferentlal gear boxes (Chosen Option)
ffermfea femiRma R siaw § I fowar ST 8 (Chosen Option)

(B) O Used in oil pumps
o dut § ST forar S §

(C) O Used in centre lathe
&% TG § SYART {1 STl §

(D) O Used in index head gear mechanism (Correct Alternative)

3@3‘«‘[ 23S xR &= o Iuai foar siman % (Correct Alternative)

Marks: 2.00

Question No. 35/ Question ID 151
What is the name of the pipe fitting item shown in the figure?

fort # =i 71T Uy fOfeT angen o1 91 T 872

(A) O Short nipple (Correct Alternative)
(Correct Alternative)
(B) O Connector (Chosen Option)
(Chosen Option)

(C) O Long nipple
[CSINEEK]

(D) O Close nipple
fue sig B

Marks: 2.00

Global iTi

Question No. 36 / Question ID 255
What is the name of the symbol shown in the figure?

for 7 feam 74 Ucfies o1 A @1 82

Marks: 2.00




(A) O Single acting cylinder with spring (Correct Alternative) (Chosen Option)
8 & a1y Rivre ufeds fRAfAsT (Correct Alternative) (Chosen Option)
(B) O Double acting cylinder
SERRYERRINI
(C) O Pressure relief valve
IR Relits dred
(D) O Moving part of valve
dled oI el HIT

Question No. 37 / Question ID 107
What is the name of the gauge shown in the figure?

o & guife U A &1 T AH 872




Global iTi

(A) O Caliper gauge (Chosen Option)
M CIRIE=PRIT (Chosen Option)
(B) O Adjustable snap gauge (Correct Alternative)
Tl (Correct Alternative)
(C) O Threaded snap gauge
ISS W I

(D) O Plain snap gauge
qlal

Question No. 38 / Question ID 31 Marks: 2.00
What is used for placing the instruments during working?

BT P TR IUBRN Dl 3T P T fopdenT ST fovar Srar 82




(A) O Steel sheet (Chosen Option)
wId e (Chosen Option)
(B) O Felt pad (Correct Alternative)
s (Correct Alternative)
(C) O Cloth
PUST
(D) O Wooden blank

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 323
Which symbol is used to denote co-efficient of friction?

Y[ & T[0T ! AU B & ol {5 Ucltes &1 o fopan Sirar g2
(A) O a(Alpha)

a (Alpha)
(B) O B (Beta)

B (Beta)

(C) O Yy (Gamma)
y (Gamma)

(D) O M (Meu) (Correct Alternative) (Chosen Option)
M (Meu) (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 2 / Question ID 335
What is the name of the structure formed, if a steel is heated for about 723°C?

I T BT FH T ], I W Y 723°C WR 714 fovam Sirem 82
(A) O Ferrite

B) O Cer_nentide

(C) O Martensite

(D) O Austenite (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Marks: 2.00

Global iTi

Question No. 3 / Question ID 334

What are the various stages of heat treatment?

ST ITAR & fafl=1 a=or &1 62

(A) O Heating, Soaking and Quenching (Correct Alternative)

@ﬁ?ﬂ 3R FRiAT (Correct Alternative)

(B) O Quenching, Cooling and Heating
AT, el R gifeT

(C) O Soaking, Quenching and Cooling (Chosen Option)
@ﬁ?‘ﬂ, FfT 3R ?%IT[ (Chosen Option)

(D) O Heating, Cooling and Quenching
, BIeRT 3R Fdfem

Marks: 2.00

Question No. 4 / Question ID 333
Which symbol is used to express change in length?

TS H uRad &1 fbg ddbd  xifar Sidr g2

Marks: 2.00




(A) O L (Chosen Option)
L (Chosen Option)
(B)O e

e
(C) O ol (Correct Alternative)
ol (Correct Alternative)

(D) O :

Question No. 5/ Question ID 324

What is the purpose of a lubricant?

WED Bl 5% F187

(A) O To increase the pressure
G919 TG o forg

(B) O To increase friction
YU Y d¢H & forg

(C) O To reduce friction (Correct Alternative)
YT B FH FHA B ﬁ‘l’l'{ (Correct Alternative)

(D) O To reduce pressure (Chosen Option)
Gd1d I HH B P [old (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 322
What is the direction of frictional force against a motional object?
foreht iR axg & favg oo 9 &t foxn w1 82
(A) O Opposite to the object (Correct Alternative)
a3 & qrHA (Correct Alternative)
(B) O Perpendicular to the object
I & EEad
(C) O Inclined to the object
a%] & fore sg@
(D) O Parallel to the object (Chosen Option)
a¥d & THIR (Chosen Option)

Marks: 2.00

Global iTi

3) ENGINEERING DRAWING

Question No. 1/ Question ID 343
Which of the following is not a main part of rivet?

frafafad & o a1 Rde &1 98T Ui 81 87
(A) O Head

(B) O Shank
RIEY
(C) O Point (Correct Alternative) (Chosen Option)
fdg (Correct Alternative) (Chosen Option)
(D) O Tail

Marks: 2.00

Question No. 2 / Question ID 360
The thread angle of B.S.W screw threads are___.

BSW & g9 & 3 T gl

Marks: 2.00




(A) O 45°
450
(B) O 30°
30°
(C) O 55° (Correct Alternative) (Chosen Option)
55° (Correct Alternative) (Chosen Option)
(D) O 60°
60°

Question No. 3 / Question ID 342
Rivets are generally, specified by

R AR R RIS by o ¥

N

(A) O length of rivet
f¥de &1 d

(B) O diameter of head
88 B AN
©) O nomlnal diameter (Correct Alternative)
SHAer (Correct Alternative)
(D) O all of these (Chosen Option)
T et (Chosen Option)

Marks: 2.00

Question No. 4 / Question ID 351
Which one of the following accommodates four pipes in a pipe fitting?

fofafad 7 @ S19-91 T ursy ffen & IR ugal & IHarifSg &ar 87
(A) O Elbow

(B) O Cross (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(C) O Union

(D) O Tee

Marks: 2.00

Global iTi

Question No. 5/ Question ID 341
Lock nut or check-nut is chamfered on____.
Al -IC a1 IH--IC Pl R IS [l offdl g |
(A) O upper side
SW R
(B) O both side (Correct Alternative)
S TR® (Correct Alternative)
(C) O lower side
el R
(D) O none sides (Chosen Option)
ﬁ'% R ol | (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 354
Which symbol is used for butt joints?

§c wiise & foru o formg &1 vanT foba i 872

Marks: 2.00




(A) O

(B) O

(C) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Global iTi




(D) O

4) EMPLOYABILITY SKILLS

Question No. 1 / Question ID 504 Marks: 2.00
The physical part of a computer is called

R & HIfdH U DI Hel Sl &
(A) O hardware (Correct Alternative)
(Correct Alternative)

®O s e oon GlobaliTi
(C) O malware
BIRCEN

(D) O software
HIUCaTR

Question No. 2 / Question ID 577 Marks: 2.00
When you do not know how to use a new machine, what will be your action?
S 30 T8 ARI BT ITART HRAT g Sf-d ol STUHT 7T B G2
(A) O Stay silent till someone teaches you
q dP Bls AD! a1 161 ¢ 99 dP $S o] DA Ay

(B) O Ask for help and learn how to use the machine (Correct Alternative) (Chosen Option)

SEHEGH A 3R Wi P w=ii= &1 U $A BT ?'-IT%T{ (Correct Alternative) (Chosen
Option)

(C) O Leave the job
TH< BIS &1 AT

(D) O Take a break and do it later

ST 9 AR 3R T1E H T/ HRAT 16T

Question No. 3 / Question ID 512 Marks: 2.00
Why is it good to think about what you learn?
MY S WG § 39 W R &A1 71 311 82
(A) O Itimproves handwriting.

forarae # QuUR gt g |




(B) O It helps to remember and understand better. (Correct Alternative) (Chosen Option)

3'\‘!'@ Te I@H 3R dER '\"ITIEIe[ o geg firerd %I (Correct Alternative) (Chosen Option)
(C) O All are doing

Tft R T T
(D) O It's a good time pass

g 351 CI3H U §

Question No. 4 / Question ID 492 Marks: 2.00
What is the standard way in which computers connected wireless?
SR DI IRRAY TRIDh Y Hde HR- BT A 1T HT 672
(A) O Wi-Fi (Correct Alternative) (Chosen Option)

Wi-Fi (Correct Alternative) (Chosen Option)
(B) O WAN

WAN
(C)O IsP

ISP
(D) O LAN

LAN

Question No. 5/ Question ID 578 Marks: 2.00
What are the different steps in design thinking?
feamga fifdh & fafte <™ F 57
(A) O Imagine, Decide, Create and Try
HT HRAT, 0T AT, T SR TR SRl
(B) O Try, Create and Decide ——
(C) O Imagine, Plan and Try (Chosen Option)
BT DHRAT, IS ST 3R A HRAT (Chosen Option)
(D) O Listen, Choose, Plan, Try, Ask (Correct Alternative)
AT, AT, TIoHT ST YA AT, TST (Correct Alternative)

Question No. 6 / Question ID 433 Marks: 2.00
Migration of work means
PHTH & RIFRU BT 37 §
(A) O working in different shifts
3{eT-3eT FRIUe H BTH BT
(B) O shifting the industry
JENT DI RIHIART BT
(C) O going to a different place to find a job (Correct Alternative) (Chosen Option)
CICE)| Eef & ﬁl’Q it §'\‘-ﬁ' VYT YR ST (Correct Alternative) (Chosen Option)
(D) O shifting of profession
ORI BT QIR

Question No. 7 / Question ID 438 Marks: 2.00
Good practice for green mind set is
W AES Je & fog 3T Siary g
(A) O using aircondictioners all the time
TR YHY TR HS IR DT IGINT Bl
(B) O keep lights on all the times
TR AT AI5C 31+ 7T




(C) O taking lot of printouts
9gd R fesae o
(D) O Separate and recycle waste (Correct Alternative) (Chosen Option)

PR P AT B 3R ITHT EH?IWUT Gy (Correct Alternative) (Chosen Option)

Question No. 8 / Question ID 394 Marks: 2.00
Fill up the blanks with suitable words so as to become a meaningful sentence.
There a coffeeshop __ the park.
et R oY SR Wee A R 1l Teb Treleh o1y o T |
There a coffee shop the park.
(A) O are, nextto
are, next to

(B) O is, next (Chosen Option)
is, next (Chosen Option)
(C) O are, next
are, next

(D) O is, next to (Correct Alternative)
is, next to (Correct Alternative)

Question No. 9 / Question ID 447 Marks: 2.00
What is an important future workplace skill for employees?
FHHaRal & forg Hiawr &1 Ayl s S 1 82
(A) O Doing paperwork
HAT
(B) O Doing manual work

emvariing Global iTi
©) O Networkmg and relationship-building (Correct Alternative) (Chosen Opti

3R ey fFmfor wwAm (Correct Alternative) (Chosen Option)
(D) O Planning holidays
‘ AT

Question No. 10 / Question ID 602 Marks: 2.00
You are a lifelong learnerifyou

Mg Aol W i safeq g afe e
(A) O join online courses
TS UISashal ¥ 9
(B) O live for a long time
S Y b oifad 38d &
(C) O keep growing and adding to your knowledge (Correct Alternative) (Chosen Option)
3 JH B! 9eTd 3R SSd I8 (Correct Alternative) (Chosen Option)
(D) O getaPhD
PhD 9T &3

Question No. 11 / Question ID 368 Marks: 2.00
The ability to connect well with people

AT & WY St ARE TS Bl & g |
(A) O leadership
NISREL)

B) O mterpersonal skill (Correct Alternative)
f¥pd (Correct Alternative)




(C) O time management
CEL] '
(D) O creativity (Chosen Option)
(Chosen Option)

Question No. 12 / Question ID 482

Marks: 2.00

In an email, where will you add the recipient email address whom you want to send the copy of an email?

Pt SR & 31U I Ul T S Ul Sl Siad o1 3T SA B HIUt N1 I18d 872

(A) O To (Chosen Option)
To (Chosen Option)
(B) O Bcc
Bcc
(C) O Subject
Subject
(D) O CC (Correct Alternative)
CC (Correct Alternative)

Question No. 13 / Question ID 548
Which of the following is a people skills required in a workplace?
FHRIRA | FEfiied § 9 &1F 91 SIRd anll & e Saxaes 672
(A) O Work alone
3{bdl BTH BHRAT
(B) O Driving skills

(C) O Being kind & Listening (Correct Alternative)
AT 11T 3R T (Correct Alternative)
(D) O Technical Skills (Chosen Option)
fepa (Chosen Option)

Marks: 2.00

Global iTi

Question No. 14 / Question ID 475
Which of the following is a green practice?

Fafafea & 3 o9 ar g dfdea g2

(A) O Grow plants wherever possible (Correct Alternative) (Chosen Option)
gl oft §ya E?f Y ST (Correct Alternative) (Chosen Option)

(B) O Using high power air conditioners

BT TR a0 TR $HaIRMR Bl SUTRT dxeAl
(C) O Not using plastic containers

WIREDH b R BT ST gl DAl
(D) O Not separating recycle waste

IS HAL B T g! BT

Marks: 2.00

Question No. 15/ Question ID 545

skills, such as commitment, reliability, adaptability and flexibility

DI, S Ufddgdl, fay=iad, sread efdT 3R adiema—

(A) O Business
ICEER!

(B) O Self management (Correct Alternative)
TP AASHT (Correct Alternative)

(C) O Team work
& ah

Marks: 2.00




(D) O Education (Chosen Option)
(Chosen Option)

Question No. 16 / Question ID 413 Marks: 2.00
What is "informal communication"?
"ZIBIHA BRI FT 82
(A) O All verbal communication
Iuff g9 FRIFHIM
(B) O Casual conversations outside of official work arrangements (Correct Alternative)
ST IRIae g sReHe A 98T FYSA H-IUR (Correct Alternative)
(C) O Official communication following a set of rules
3Tl & T U< &1 UTeiH DHRd U SR SRIAGRH
(D) O Talking at official meetings (Chosen Option)
T &1 BT (Chosen Option)

Question No. 17 / Question ID 607 Marks: 2.00
What describes "Human Resources" in a furniture manufacturing company?
WieR oo duet & A S &1 quiE w1 8
(A) O its products
4P IS
(B) O its profit
UDT IH

(C) O its sales record

391 faw! Ravis

(D) O its employees (Correct Alternative) (Chosen Option) GI I] I 'T'
WW(Correct Alternative) (Chosen Option) 0 a I I

Question No. 18 / Question ID 402 Marks: 2.00
The word 'resume' comes from French and means
T TS Yo HTOT ST § 3R 3T 31 g
(A) O education
fraf
(B) O placement
wHHT
(C) O experience (Chosen Option)
3{JHd (Chosen Option)
(D) O summary (Correct Alternative)
&y (Correct Alternative)

Question No. 19 / Question ID 604 Marks: 2.00
What encourages entrepreneurship on a grand scale?

T A I UAM IR I I WedTied Bl 67
(A) O Become famous

(B) O Become rich quickly
fasH

(C) O CGlobal leader
ISIERISISH




(D) O New business opportunities (Correct Alternative) (Chosen Option)
qﬁﬁlﬁﬁ GITI'I?ﬂeI?ﬂ (Correct Alternative) (Chosen Option)

Question No. 20 / Question ID 477 Marks: 2.00

Suggestion for green practices in the office canteen is
AP S A Mg digge ®
(A) O Providing lunch to the staff in disposable plates.

T D! ST wiel § QU ol HISH Iuds B
(B) O Using steel plates and cups. (Correct Alternative) (Chosen Option)

W W 3R HY BT SYANT BT (Correct Alternative) (Chosen Option)
(C) O Serve green vegetables.

ool TRIHT
(D) O Delivering food in plastic packaging.
T Hioi faaRd e

Question No. 21 / Question ID 533 Marks: 2.00
What has drastically changed the world of work?

BT B g | by o 4 YR Sged fosan g2

(A) O Investment
(B) O Workers

(C) O Technology (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

010 e Globalim

Question No. 22 / Question ID 405 Marks: 2.00
After preparing the resume, the next important step to do is
B & TG AT Hgaquf HEH §
(A) O preparing for interview.
DR B! AR HAT
(B) O sending the resume to the employer.
TR Dl SRATSTET HeHT
(C) O applying for the job.
& foTQ 3G BT
(D) O writing an impressive cover letter. (Correct Alternative) (Chosen Option)

Udh YHTGRITE! Hax dex g (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 563 Marks: 2.00
While doing some difficult work, if it is not going on well, what we have to do?
PIs Hid HIH B I Tle 98 31P U ol 9d <61 &l al gH T HAT g2
(A) O Get upset and quit trying
g1 9TY 3R YT AT BIE ST ATey
(B) O Ask someone else to do it for you
foraft 3R HT 3 e U8 R F oy we anfey

(C) O Take a break and give up
ST 5o < 3R BR | < =1feY




(D) O Keep trying and look for another way (Correct Alternative) (Chosen Option)
TATH ¥d I8 3R gRIRT IRAT WIS ATRY (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 415 Marks: 2.00
What are some advantages of informal communication at the workplace?
IHEY R ZABIHA HRIFHA & T Y 82
(A) O Helps people work together better (Correct Alternative)
[ ) TP 1Y TP dgdr &7 A HTH FH H Aeg fradt g (Correct Alternative)
(B) O Makes people talk Iess
[ &) HH §1d B odl §
(C) O Makes things more official at work
BRI 0 =il Bl 3R 3ifie 3fereRe amrd 3
(D) O Creates a strict environment at work (Chosen Option)
ERESECYICINICRYURSE I % (Chosen Option)

Question No. 25 / Question ID 508 Marks: 2.00
Which one is essentially required to receive communication by Email?

U GRT HRIFHT T 3 & o8 SifHard U I 341 STaad 87
(A) O Laptop

dgerg
(B) O Desktop

Sl

(C) O Email account (Correct Alternative) (Chosen Option)
3[PI3IC (Correct Alternative) (Chosen Option)

10 fmm Globalim




